I]'2g4e}//:dnyuonewoul [ealuydal
ny 11aqey//:dnysai

INLH2O3D/203DRp ullReg-

ap'ul}seg-ny 11°10j02//:dny 10 ap'u

v L o M
http://farbe.li.tu-berlin.de/ CEQ2/CEQ2LONA.TXT /.PS; only vector graphic VG; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

log[sensitivity] logLo = -0,35u)—Us7q
logM o= —0,35[1~Uss]?
logLa=logLo+0,02

log [La, V4] logM 4= log M +0,02

log[saturation]

10gVo = ~0,35[1)~Uss7]2

logVa=logV,+0,00

log [La/Vo, V/Vo)
MaVo La

|Og LQ = —0,35[.])\—U570]

logM o= —0,35[1)—Us.:]

logLa=logLo+0,02

logM 2= log M +0,02
saturation V

u\=(A—550)/50
0 EGETIELN]

Lo ;—0,02 La=-0,a
V=-0,00 Vg =-0,&
M0o=-0,02 Ma=-0,&
11557
5451 11570 N\5Ec  565Ec

5451 11570

EGEIEGRN]
L&M: 557
1£0.0

N\

495Ec  565Ec

500 600Ad/nm 700Ac 400

log[sensitivity] logLo = -0,35u)—Us7q

logVo = —0,35[1)\—U557]2 logVio=-0,350\-u ]2

logVa= logV,+0,00 logLa=logLo+0,02

log [Va La, V4] logVi2 = log M ,+0,02
MaVo La uy=(A-550)/50

500 600Ad/nm 700Ac 400

CEQ20-2A

log[saturation]

logVo = —0,35[1)~Uss7]2

logVa=logV,+0,00

log [Va/Vo, La/Vo, Ma/Vo]
MaVo La

|Og Lo = —0,35[.])\—U570]

logV o= —0,35[1)—Us.:]

logLa=logLo+0,02

logM 4= log M +0,02
saturation V

EGETIEGN]

L&M: 557
= ts=0.0
Lo=-0,02 Lg=-0,0
V=-0,00 Vg =-0,a
Mo=-0,02 Mg=-0,0C

11567
Y Y\5Ec  565EC

EGEIEGRN]

495Ec  565Ec

500 600Ad¢/nm 700Ac 400

log[sensitivity]
logVo = —0,35[1~Uss72
logVa= logV,+0,00

log [Va, V] log
MaVo

logLa=logLo+0,02
= logM+0,02
u\=(A\-550)/50

600Ad/nm 700Ac 400

log[saturation]

logVo = —0,35[1)~Uss7]2

logVa=logV,+0,00

log [Va/Vo, Ma/Vo]
MaVo

|Og Lo = —0,35[.])\—U570]

logM o= —0,35[1)—Us.:]2

logLa=logLo+0,02

logM 4= log M +0,02
saturation V

EGETIEN]
L&M: 557
557: LSO

Lo=-0,02 La=-0,&
V0=-0,00 Va=-0,&
Mo=-0,02 Ma=—0,

\95Ec  565Ec

"

[ }
i
n
"
11557

54511

EGEIEGRN]
L&M: 557
1£0.0

— — — — s — — — — — —

495Ec  565Ec

600Ad/nm 700Ac 400

log[sensitivity]

logVo = —0,35[1~Uss72
logVa= logV,+0,00
log [Va La ] log

logLa=logLo+0,02
= logM+0,02
u\=(A—550)/50

500 600rd/nm 700Ac 400

CEQ20-6A
log[saturation]

logVo = —0,35[1)~Uss7]2
logVa=logV,+0,00
log [Va/Vo, LalVo, ] v

|Og Lo = —0,35!.])\—U570]

logM o= —0,35[1)—Us.:]2

logLa=logLo+0,02

logM 4= log M +0,02
saturation V

EGETIEN]
L&M: 557

o ts=0.0

Lo=-0,02 La=-0,C
V0=-0,00 Va=-0,0
M0=-0,02 Ma=-0,&t

Y\5Ec  565EC

1570

EGEIEGRN]
L&M: 557
ts=0.0

495Ec  565Ec

600Ad/nm 700Ac 400

500 600Ad/nm 700Ac 400

CEQ20-8A

log[sensitivity] logLo = -0,35u,~Us7q

logM o= —0,350)~Us.:]?

logLa=logLo+0,02

log [La, M4 logMa= logMo+0,02
Ma Vo La u,=(A-550)/50

log[saturation] logLo = -0,35u)—Us7q

logVo = —0,35[—Uss7]2 logM o= —0,35[1,~Uss92

logVa= logV,+0,00 logLa=logLo+0,02

log [La/Vo, Ma/Vd] logM = logM+0,02
MaVo La saturation V

EGETJET])

L&M: 557
- ts=0.04
Lo=-0,02 Lg=-0,0(
0,00 Vg =—0,0(
Mo=-0,02 Mg=-0,0(

545111570 495Ec  565EC

e EGETJELN]
L&M: 557
[ ~~——111 o

[}
[}
11557
545! 11570 495Ec  565EC

500 600Ag/nm 700Ac 400
CEQ21-1A

log[sensitivity]
logVo = —0,350)~Uss7]?
logVa=logVy+0,00

log [Va, La M4 log
MaVo La

logLo = -0,35u)~Us7q
logM o= —0,350)~Us.:]?
logLa=logLo+0,02
=logM+0,02
u,=(A-550)/50

500 600Ad/nm 700Ac 400
CEQ21-2A
log[saturation] logLo = -0,35u)—Us7q
logVo = —0,35[J>\—U557]2 logVio=-0,35p\-u ]2
logVa= logV,+0,00 logLa=logLo+0,02
log [ValVo, LalVo, M/Vo] logMa= log M +0,02
MaVo La saturation V

EGETJE])
0 L&M: 557
0 -
1 557: O
1 Lo=-0,02 Lg=-0,0(
1 Smhtee0.00 Vg =-0,0(
1 Mo=-0,02 Mg=-0,0(
1

1557
Y 495Ec  565EC

[ EGETJENN]
- L&M: 557
1 — 1004
e

11567
545! 11570 495Ec  565EC

500 600Ag/nm 700Ac 400

log[sensitivity] logLo = -0,35L)~Us7d

logVo = —0,35[1)\—U557]2 logMo=-0,350)-u ]2

logVa=logVy+0,00 logLa=logLo+0,02

log [Va, M4] logMa= log M+0,02
Ma Vo u =(A\-550)/50

500 600Ad/nm 700Ac 400

log[saturation] logLo = —0,35[u)—Us7q

logVo = —0,35[—Uss7]2 logVio= —0,35)—Us:]2

logVa= logV,+0,00 logLa=logLo+0,02

log [Va/Vo, Ma/Vo] logM 4= logM+0,02
Ma Vo saturation V

1S adaptation
// " \\ L&M: 557
[N 557_t§0.04

[}

' =-0,02 La=-0,0(
' - Q.00 Vg =-0,0(
' M0=-0,02 Ma=-0,0(
11557

5451 495Ec  565EC

[ EGETJELN]
" L&M: 557

1 t=0.04

B b — — — —————
(]
(W]

i
11557
545! 1 495Ec  565EC

500 600Ad/nm 700Ac 400
CEQ21-5A

log[sensitivity]

logVo = -0,35l-Ussd?>  logVo= ~0,35[~Us1]?

logVa=logVy+0,00 logLa=logLo+0,02

log [Va, La, ] logMa= logM+0,02
Vo lLa u\=(A\-550)/50

500 600Ad/nm 700Ac 400
CEQ21-6A
[CIEEIE ] logLo = —0,35[u)—Us7q
logVo = —0,35[—Uss7]2 logVio= —0,35)~Us:]2
logVa= logV,+0,00 logLa=logLo+0,02
log [VaVo, LalVo, | logM = log M +0,02
Vo La saturation V

EGETJET])
L&M: 557
- ts=0.04
Lo=-0,02 Lg=-0,0(
Va=-0,0(
Mo=-0,02 Mg=-0,0(

495Ec  565Ec

' EGETJENN]
- L&M: 557
1

W.M

557
570 495Ec  565EC

600Ad/nm 700Ac 400
CEQ21-7A
CEQ21-7N

TUB-test chart CEQ2; sensitivity LMV->L/V & M/V, lin[thresholds]=0 & 0,04
log[sensitivity] and log[ratio], LMS-R21=5
] M Y

45,557, adaptation 557

500 600Ad/nm 700Ac 400

CEQ21-8A

Q
=)
=5

=5

3

o

=]

—

o

=

@

<

L

c

2

o

=]

Q

>

o

3

®

QD

0

c

=

®

3

D

>

—

o

=

=2

n
=2

D
<

o

=

Sd’/ 1X1'¥YN012030/203D-T0€0220T :uonensibal ani

9po09 :Jeudrew gN.L

Yi=




